NSN 2825-00-089-1540 AeroBase

Steam Turbine Parts Kit - Page 1 of 1 J— Group
View Online at https://aerobasegroup.com/nsn/2825-00-089-1540

Reference Number Differentiating Characteristics:

Kit consists of the following qty, part name and no., 9-bearing shoe 362683, 1-filler ring 25j883-44, 2-filler ring 25j883-45, 2-bolt stud 1-1/4 in.
By 12-3/4 in. 9h177, 1-stud bolt 1 in. By 8-1/4 in. 9h176, 1-stud 1-1/4 in. By 4-7/8 in. 9h210, 1-stud 1 in. By 5-3/8 in., 1-guide bolt dowel
15h723-1, 1-nut 1 in.-7609-2h 16534, 1-stud dowel 1-1/8 in. By 8 in. 9h244, 1-stud 1 in. By 7-3/8 in. 9h209, 4-nut 1-1/4 in.-7609-2h 16534,
2-stud 7/8 in. By 4 in. 16476, 3-nut 7/8 in.-7609-2h 16534, 1-dowel bolt -8 9h197, 1-bolt dowel I-7 9h197, 1-stud 7/8 in. By 5-1/8 in. 9h209,
1-bolt 3/4 in. By 4-5/8 in. 16462, 1-straight thermometer 10h41-1, 1-angle thermometer 10h42-1, 1-piston spring 139695, 1-relay spring
159808, 1-control spring 138694, 8-key 14h913-1, 8 spring 11h350-1, 4-segment set 29j680-10, 1-taper dowel 1/2 in. By 2-1/8 in. By 1 in.
16735, 1-nut 1/2 in. 16534, 1-taper bolt 1-1/8 in. By 3-1/4 in. By 2-1/4 in. 74699-1, 2-nut 1 in. 9h260, 3 sight glass 2-1/4 by 1/4, 3-gasket
2-1/4 od by 1-7/8 by 1/16, 2-packing

Shelf Life:

N/a

Unit Of Measure:

Demilitarization:

No


https://aerobasegroup.com

